logarithmic V , Vo-data = ithmi , IVl -data u) = (A — 550) / 50
logV = (log!/,+ logLg)/2log!V = -0, L (log  +loglLg)/2log  =-0,35L)\-u ]
logVo =logV + 0,03 logLo= —0,35U)\~Us7d =log/V +0,12 logLo= —0,35U)\~Us7q

Z

log [Vo, V , Vi, Lo] Adaptation: A, =555 M, Lol Adaptation: A =540
570 570
1, : P :
A \\ maximum / maximum
1 log(Vm)=-0,02 12
Vmn=0,94 \
Threshold Threshold
0,5 t4=0,01 t4=0,01
0,6r-3 -1
400 500

DoPo->UaUo

,Lo-data uy,

3 )
)/2log  =-0,35u)-u

logL = (log\/,+1log )/2log N logL =(log +log

logLo =logL +0,12 log® =-0,35u\-u ] logLo =logL + 0,12 log =-0,35u\—u

log [Lo, L, Vo, Adaptation: A, =570 log[L, , Adaptation: A, =570

570 570

1, . 1T .

maximum maximum
1 log(Lm)=-0,12 1 —L log(L m)=-0,

Lm=0,75 > Lm=0,75
Threshold Threshold

0,5+ t4=0,01 o 1a=0,01

0,0r-3 3 uy 1 3 uy,

500 600 700 A/nm ( 500 600 700 A/nm

BE851-3N BE851-4N

, -data u, = (\ —550) / 50 uy = ( —550)/ 50
log = (log +logle)/2log  =-0,35\-u ]2 =(log +log )/2log  =-0,35u\-u ] )
log =log +0,35 logL o= —0,35)\~Us7q =log +0,22 log =-0,35u\-u ]
log[ , , ,Lo] Adaptation: A =520 By Ba So Adaptation: A =470

570

maximum maximum
log(' m)=-0,34 log( m)=-0,21]

m=0,45 m=0,60

Threshold Threshold

1T /‘\ t4=0,01 t4=0,01
7/

0t-3 —il il 3 U
500

1

600 510 600 700 A/nm
BE851-5N ToGo->BaBo BE851-6N

\ =l.rdata uy = (\ — 550) / 5(% log =(log +loglLy)/2log =-0,35u\-u ]
log =(log +log )2log =-0,35u\-u ] logYe=2log -log logL o= —0,35l)\~Us7q
log =log +0,22 log =-0,35u\-u ] log =2log -logL, Adaptation: A =520
log [ =5, <5, Adaptation: A =470 log [ |

1 570
maximum maximum
1 — log( m)=-0,21 Ya log( m)
o =] m=0,45
2 Threshold Threshold
0 t=0,01 T Nom
—11+-3 =il 3 uy =il 1
400 510 700 A/nm 600 700
ToGo->BaBo BE851-7N BoJo->MaMo BE851-8N
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